
Entry 2: Calculate money with pence up to one pound and 

write with the correct symbols 

1. Match the coins with their values. 

    

 

  

 

2. Put the values of the coins in order, from the lowest to the highest. 

 

Lowest     ……….     ……….     ……….     ……….     ……….     ……….     Highest 

 

 

3. You go to a shop and buy two packs of biscuits as shown below.

 
 

How much do they cost in total? ……………………………………………………………. 

 
 

4. You pay for the biscuits with a £1 coin. How much change do you get?  

…………………………………………………………………………………………………………………

………………………………………………………………………………………………………………… 

 

Alan thinks you would get 52p change. Is he right? Explain your answer. 

………………………………………………………………………………………………………………… 

10p 50p  5p  £1 20p 



5. Fill the gaps below. Include the unit. 

 

19p + 43p = …… 

78p + 18p = …… 

35p + ……  = £1 

….. + 72p = £1 

66p – 34p = …… 

79p – …… = 69p 

£1 – 58p = …… 
 

6. Gurpreet lines up the cost of two different items to add them up. Here is 

what she has done: 

 

 
Is this correct? Explain your answer. 

…………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………

………………………………………………………………………………………………………………… 


